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BEH GRPBRED) 1, 906, 000 m2
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WA -EAEHT Y 857,388 |BIAEAE 1 =
B hEBRET Y 378, 100
B hERET 2 378,100 |4 4 HRrEMEE 5 H
Y iE T Y 357,615
£+ lEiakE L Y 270,815 | EaEav/)—} 100 m2
t=100mm 18-8-40 (&%) ;
Bk T Y 86, 800 | FE/KIE 10 m
ERRTIVINT. hE12emAayFif M
X R T = 35, 960
X R T = 35,960 | A =R R 100 m
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H
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-3 - E+A8m SN T S




T4 | BT ERERE AR R T4

TEHX4y « Tfd - FER B Az £ & #A i il R
rGan = 1,018, 480
TEHERKT = 284,980 | T3 E K+ 2V
(FxE)
4. omPh Lk
TR HERKE L F2V
€ EI)
4. omPh Lk
SRR T = 733,500 | Ak H B B =
[ERAE Xy = 77, 369, 535
HiE 2 = 5, 330, 000
s E (i L) = 5, 330, 000
T = 82, 699, 535
Bl gy = 25, 363, 000
T =5l = 108, 062, 535
— R A = 18, 337, 465
TS = 126, 400, 000
-4 - E+A8m SN T S




